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There still remain three studies suituble for
free mon. Arithmetic & one of them,
No work = no credit
Plato
427 — 347 BC (Greek philosopher)
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Warm-ups (1 pt each): —x*'=CLX —y'= O —In(xy)= .\2‘- 7 )/
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1.) (1 pt) Piate said that arithmetic is worthy of study along with two other topics. What do you
think were the other topics worth studying? (I don’t know, I’m just curious what you think).
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2.) (5 pts) Find the curvature of the helix 7 (t) =(2cos1,2sin, 3t>
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3.) (5 pts) Find the tangent, normal, and binormal vectors of the curve 7 (t) = <%,4 - 3t,1> at the

point (2, —2,1) .
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4.) (5 pts) Find the tangential and normal components of the acceleration if 7(¢)= <5,4 — 3t,1>

at the point (2,-2,1). @

Hint: You can check by using combining the results of (3.) and (4.) and verifying that
i=a,T+ayN.
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